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Note: Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill the circle in front of that question with marker or pen in the answer book
cutting or filling two or more circles will result in zero mark in that question.

1. How many possible solution are there for a problem? u:u@’lf.xag -1
(@) Many (b) Two (c) Three & (d) Four

2 Algorithm is a: ol Z;ﬁl 2
(a) Requirement document &/ 3 st =33/ (b) Design document e/ 131y
(c) Testdocument wou/I5e (d) User guide €.y

3. The diamond symbol represents the: _‘LJ/G;LEWLI;JMU -3
(@) Input/Out put weril /esyl (b) Decision making (§j\-.k<}
(c) Processing —&xsy (d) Remarks L4/

4. Avariable name must be start with a: BT A7) e— CEESs -4
(a) Alphabet .l (b) Underscore & %I
(c) Digit w53 (d) Alphabet or underscore ;;C.;jlg.;f,uy

5 Which of the following command continues the program whose execution was terminated temporarily.
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(a) CONTINUE (b) CONT (c) RESTART (d) START

6. Which of the following is NOT logical operation. ?‘f_ﬁﬁﬂﬁ;‘u’fc_uﬁul -6
(a) AND (b) NEITHER (c) OR (d) NOT

7. Which option is used with IF statement? ‘e dnIA WAL 7
(a) WHILE (b) THEN (c) END (d) STOP

8. Which of the following is NOT valid subscript? ?q_ﬁ._ﬁ,;/’.__wyntﬁfc_ui’ul -8
(a) Num (10) (b) A(2) (c) B (4) (d) A(-2)

9. The result of function ABS (-15) is: :‘Ll_.JIJ?KABS("IS)Ujﬁ -9
(@) -15 (b) 15 (c) 16 (d) -16

10.  Shortcut to save filel in MS-Word is: ?.;_L_J’J:,;Lﬁd/é_/SavefJ/GufIVIS-Word -10

(@) Ctrl+0 (b) Ctrl + S (c) F2 (d) Ctrl+A
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PART-l (il
2. Write short answers to any four (4) questions. (4 x 2 = 8) ....‘.U:A’:?/‘-:’Z:.«Ulr(4)zlgc~..(jf .
i.  Define advantages of flow chart. RSO ST B
ii.  Differentiate between Run time error and logical error. _u:/ugzjjdqif,ﬁ)),u{lfew i
ii. ~What is meant by "Documentation"? ?;;_;I/y'cf_“t/wﬁﬁ:?i/ff,;” i
iv. What is the strategy for developing algorithm? _q/uw‘;,ﬁJL/_gyiﬁﬁ v
v.  Explain CLEAR with syntax. U oSt 6 5 CLEAR v
vi. What is operator procedence? ?;.:ygc.é}Jﬁ;T Vi
3. Write short answers to any four (4) questions. (4 x 2 = 8) -¢daLl£/3£.:.U!r(4)Jk¢.J/ -3
i, Define GOTO statement. _J_/_.QJ/‘U:J:‘?GOTO i
i.  Explain IF..THEN.. ELSE statement with syntax.  -(/./ oaSetinw bl (2 IF. THEN. ELSE i
ii.  Explain title bar. S bad S i
Iv. How to create a new document in MS-Word? ?ug.T_Lad“/&:f./';‘gugufMS—Word AV
v.  Explain the line spacing in MS-Word. _q/ug...t'f}r&uu.‘ms-vvord v
vi. Explain Drop Cap. _q/.-.ou,d’.{{.fu; Vi
4. Write short answers to any four (4) questions. (4 x 2 = 8) -qﬂaaLLeﬁ?LaUlr(tl)Jl'rc.Jf 4
. What is meant by DIM statement? ?‘L;J/t{.:;_u}f’DlM N
i.  Explain Array manipulation. -q/ug.'y)K(db}Dﬂg&&_ﬂ i
ii.  Differentiate between Program file and Data file. _q/c)w)uf‘fﬁ(uf{mﬁ&; dii
iv. Explain any two numeric functions. _qfuguiaJ/};;Léf AV
v.  Explain LINE statement with syntax. _u_j/ -;,;,JJ,}ML&JJ&:‘-*LINE v
vi. Define Graphic. Give the names of graphic modes. -u:fl'f:(tijirJl/’jslq/u_lﬁb@/‘U_@j Vi
PART-II (9342
Give any Two (2) answers of the questions. :q:.:.yz&..—.mr(z)»a_df
Q.5: What are variables? Also explain rules for naming variables in BASIC? (8)
I IL Ut L e BASIC sl e 2 15 A 1y
Q.6: What is Loop? Explain FOR...NEXT Loop with program. (8)
Uy ke s S IFOR. NEXTS UL 6 4 r
Q.7: What is function? Differentiate between builtin function and user define function. (8)
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MS-Windows (sts-(RI-f1)

1. Perform the practicals of following questions on Computer Screen. (5 + 5 =10 Marks)
,u__‘/(p E{{Q/C‘);_g.f)/ ..‘-425 Zafy || 41
(a) Change the Desktop Backbround of Computer. SIS g b b L b
(b) Make a New Folder on Desktop named 'BISE Lahore". -u:/qu.ﬂ;’yc.(tﬁ“BISE Lahore" ;o b l23
(c) Write down the stepwise procedure on answer sheet. (10 Marks) _u.‘.’g{(éw!ﬁ.‘g /L’JU&/
OR |

(a) Prepare the given paragraph in MS-WORD according to following given format and save it on desktop against your

Roll Number. (12 Marks) -/ B2l Aty bel2snl Sein oI /pd e sl apid 2 sé.

Font size 15! paragraph: 15 '
Line spacing: 2.0
Spell checking
Bold & Italic 2"9 paragraph
MACHINE LANGUAGE:

Machine language is language that a computer can understand a low-level language that is directly
understandable by computer system. Each model of computer has a unique machine language that is the fundamental
language of computer an is written in the form of binary strings of 1's and 0's.

The programs written in machine language are very fast in execution. There are no limitations of machine language.

(b) Write down the stepwise procedure on answer sheet. (8 Marks) _w.’q;(é(‘g}lﬁ.'il; )’st,.lv/ (b)
2. Write a program which prints the green circle. -L-/h."a"{uj’)guéd )}u: Il:«.rl)j{_.ﬁ 2
(a) Draw the flow chart on answer sheet. (5 Marks) L ,L'mid‘l'g,?s{(_égdjﬁ (a)
(b) Write an algorithm 6n an§wersshect. (5 Marks) “Lelddedz o)
(c) Write a program code on answer sheet. (5 Marks) _u:"gi/ b’r’VC{{QK@L& (c)
(d) Execute the program code on computer screen. (5 Marks) selul ,lp(:/ besef /C }:5_.{:(5:?1/@ (d)
OR |

Write a program which prints the first 10 numbers by using WHILE WEND loop.
K S e ndt w2 J)Ed_JWHILE WEND

(a) Draw the flow chart on answer sheet. (5 Marks) il /lk &J&}E{QK '@L’? (a)
(b) Write an algorithm on answer sheet. (5 Marks) il /b:g}ﬁ?{né( QL’? (b)
(c) Write a program code on answer sheet. (5 Marks) _u.‘f’gi/ Kri/'i;{q_b’ 3z (c)
(d) Execute the program code on computer screen. (5 Marks) sl ,Ldj/ Uesef /(‘ };{/ﬁ}?!jg (d)
3. Practical notebook. (5 Marks) ..J./ :Jﬁ,_; 3
4. Viva Voice (5 Marks) Uyl 4

Note for Practical Paper Setter:
|. First question is given from MS-Windows only and choice of Ist question is given from MS-Word only.
2. Second question is given from GW-BASIC according to given pattern and choice is also given from GW-BASIC.



